(S CELETTE® | | HONDA/ACURA 253 INTEGRA 3PS Hacnback

1 s 5 T

20 < N -

With or without mechanical elements

REP.| REFERENCE| PDS [ NB | MZ
1 585.701 28 | 1 [140/080
2 585.702 28 | 1 [140/080
3 585.703 23 | 1 601
4 585.704 23 | 1 602
5 585.705 1,7 | 1 |260/080
6 585.706 1,7 | 1 [260/080
7 585.707 12 | 2
8 585.708 21 | 1 142
9 585.709 21 | 1 141

10 585.710 1,7 | 1 080
1 585.711 1,7 | 1 080
12 585.712 1,7 | 1 140
13 585.713 17 | 1 140
14 585.714 34 | 1 080
15 585.715 34 | 1 080
16 585.716 22 | 1 080
17 585.717 22 | 1 080
18 585.718 40 | 1 260
19 585.719 40 | 1 260

20 585.720 19 [ 1

21 585.721 19 [ 1

22 585.722 03 | 2
23 585.723 27 | 1 200
24 585.724 27 | 1 200

V.11 01 | 2

M10.125x40 4

M12.125x70 2

M12.125x110 4

M12.125x130 2

= Mm12.125x150 4

M12.125x160 4

M12.125x170 6

M12x20 2

M12x30 6

M12x60 4

& w2 4

MZ 141 Con o senza parti meccaniche
Mit oder ohne Aggregate
Con 6 sin mecanica desmontada
HONDA/ACURA | 585.300
60 Kg | 02.05.90 |413-D-14A
140 ° olo 0_602 080_?@(}0 260 @ ooeeooglov_rv4oo
o@o o Do o do o ° o ° ° ° ° ° ° ° ° ° ° ° ° ° 1§0 TI@ 2 8 ° ° ° ° : ° ° g 2 I
+ [+
Bl . s fed . . . odf — 1 | a0
| | e of 080—To o o o
260 142 080 o o o o o o
260 |1%1 o080 °oe ° e °e
| | S 080 —J° ° o o
ovo o Oo o dao ° i o+ ° ° o o e 3 ° 3 ° °
o o o oo ° a?@[ o+ :: o upq o ol [ ° ° :oqo 3 o 2C|)O
Q Q L Q Q 9 [ [+] [*] [+] Q o o [«] (*} Q9 U [+ Q o o
i (oxg
° olo o 140 4[ © o ° ° ° o o o0 oo of o
140 ° @ﬁ_ 601 080 —lpq 260 o q 00 P@I. A Tv400

T °e 2 oo
Riconstruzione
gstands_etzung

ﬁ ﬁ %; 20 - 21 Reparacion
el |
—gh g
MZ260 MZ141/ 142 Es =3 Checiing
| || — 20 - 21 Uberprugung
= = Control
ez F16.3 | FIG5H
GELE TTE ® © Copyright 1990 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.

VIENNE-FRANCE




® DAS 3 Portes
I I HONDA / ACURA INTEGRA Hatchback
GE LE E DAG6 3 Door
REP. | REFERENCE| PDS | NB | MZ
1 585.701 2,8 1 |140/080
2 585.702 2,8 1 |140/080
3 585.703 2,3 1 601
4 585.704 2,3 1 602
5 585.705 1,7 1 |260/080
6 585.706 1,7 1 [260/080
7 585.707 1,2 2
8 585.708 2,1 1 142
9 585.709 2,1 1 141
10 585.710 1,7 1 080
1 585.711 1,7 1 080
12 585.712 1,7 1 140
13 585.713 1,7 1 140
14 585.714 3,4 1 080
15 585.715 3,4 1 080
16 585.716 2,2 1 080
17 585.717 2.2 1 080
18 585.718 4,0 1 260
19 585.719 4,0 1 260
20 585.720 1,9 1
21 585.721 1,9 1
22 585.722 0,3 2
23 585.723 2,7 1 200
24 585.724 2,7 1 200
V.11 0,1 2
M10.125x40 4
M12.125x70 2
M12.125x110 4
M12.125x130 2
= M12.125x150 4
M12.125x160 4
M12.125x170 6
M12x20 2
M12x30 6
M12x60 4
080 L
S, M12 4
Avec ou sans mécanique
With or without mechanical elements
Con o senza parti meccaniche
Mit oder ohne Aggregate
Con 6 sin mecanica desmontada

| 60 Kg | 02.05.90

| 413-D-14B

o o0 o ¢ o -3 -] :Oq_oso @ ; TV400
OOO ;T—O g0 [ 0+ ] o -3 (-3 3 © ° ° ° e ° ° ° ° ° g g 2 8 @ ° ° ° ° ° 4 9 |
+ [} -]
2 .. POl 199 . . . .| 200
080 080 142 080 ° ° o o
080 080 141 080 o o o o
ov|o e ©Oo ° co| o i-e_Jr o o| © o ——io ° ° °
3 pO| [ . 109 | 200
ol o o0 o doobleTlTle fo ol o o e o o o o o o o o5 315 8le o o o o o 8 8 |
0d]— oso oD Tvaco
38

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36

0°30

74
69

-~
o
O,

Z o MZ2451 / 2452

MZ141 /142

FI6.9

23-24

MZ200 + TV400

CELETTE ©

VIENNE-FRANCE

@© Copyright 1990 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any
other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.




ELETTE HONDA / ACURA Bas  INTEGRA §ooc®® Hard T
ar 0
DAS 4 Door P
(17 ' &)
MZ 080
22 MZ 200 21
S TV 400
20 < )
I L2 22 REP.| REFERENCE| PDS | NB | MZ
' 1 585.701 2,8 1 [140/080
’ 2 585.702 2,8 1 [140/080
3 585.703 2,3 1 601
4 585.704 2,3 1 602
< 5 585.705 1,7 1 [260/080
6 585.706 1,7 1 [260/080
7 585.707 1,2 2
8 585.708 2,1 1 142
9 585.709 2,1 1 141
10 585.710 1,7 1 080
11 585.711 1,7 1 080
12 585.712 1,7 1 140
13 585.713 1,7 1 140
14 585.714 3,4 1 080
15 585.715 3,4 1 080
16 585.716 2,2 1 080
17 585.717 2,2 1 080
18 585.718 4,0 1 260
19 585.719 4,0 1 260
20 585.720 1,9 1
21 585.721 1,9 1
22 585.722 0,3 2
23 585.723 2,7 1 200
24 585.724 2,7 1 200
V.11 0,1 2
M10.125x40 4
M12.125x70 2
M12.125x110 4
M12.125x130 2
= Mm12.125x150 4
M12.125x160 4
M12.125x170 6
M12x20 2
M12x30 6
M12x60 4
080 L @)
\m/ M12 4
Avec ou sans mécanique
With or without mechanical elements
Con o senza parti meccaniche
Mit oder ohne Aggregate
Con 6 sin mecanica desmontada

| 60 Kg | 02.05.90 |413-D-14C

140 - 601 080 —fh ey 260—5@ e @— 200
-] o|lo 140 L] L o o o o o o 0 & o eojo ©
o@e o 0Oo o aoD o+ o+ 3 3 © ° ° ° ° ° ¢ @ e ?@ g 2 ° ° ° o : ° ° g 2
50| | Jod
OAO -3 Qo -] oo L) @ °+ d o o L———-o o PQ o o TV4OO
| | o o 080 — ° 3 o o
260 142 080 o © o ° o °
260 | 11 o080 © ot ©oe ©oe
| + + | L] o 080 0\ o -3 o
ovo e Oo © dgo o ° o o o ——io [ o ) o o
Bl . e ded . i bO ry400
e o _o© Q [ S - S - S - < S ¢ 8o o o |3 o o |8 8
° ﬁl 140 P@l ° o o ° 6 0o 0 o o| o fo ©
140 o ofo o_ 602 080_?0; 260_?@ oooooo@_zoo
1 2 3 45 6 7 8 9 10 1112 1314 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 39
89 ‘%f Reparaon 23-24
Riconstruzione
Instandsetzung
- 20-21 Reparacion
5{:@% | o . MZ200 MZ200 + TV400
MZ141 /142 SIS Coniralg (M8S) i
| Ho 20 2 e =
F16.3 | FIGS5 FIG. 6

GELETTE ®

VIENNE-FRANCE

© Copyright 1990 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any
other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.




() CELETTE® | |lHONDA/ACURA 247 INTEGRA 2Fo™° haratop

MZ 200
TV 400
b,
2 REP.| REFERENCE| PDS | NB | MZ
1 585.701 2,8 1 [140/080
2 585.702 2,8 1 [140/080
3 585.703 2,3 1 601
4 585.704 2,3 1 602
5 585.705 1,7 1 [260/080
6 585.706 1,7 1 |260/080
7 585.707 1,2 2
8 585.708 2,1 1 142
9 585.709 2,1 1 141
10 585.710 1,7 1 080
1 585.711 1,7 1 080
12 585.712 1,7 1 140
13 585.713 1,7 1 140
14 585.714 3,4 1 080
15 585.715 3,4 1 080
16 585.716 2,2 1 080
17 585.717 2,2 1 080
18 585.718 4,0 1 260
19 585.719 4,0 1 260
20 585.720 1,9 1
21 585.721 1,9 1
22 585.722 0,3 2
23 585.723 2,7 1 200
24 585.724 2,7 1 200
V.11 0,1 2
M10.125x40 4
M12.125x70 2
M12.125x110 4
M12.125x130 2
= Mm12.125x150 4
M12.125x160 4
M12.125x170 6
M12x20 2
M12x30 6
L M12x60 4
/ & w2 4
Avec ou sans mécanique
With or without mechanical elements
Con o senza parti meccaniche
Mit oder ohne Aggregate
Con 6 sin mecanica desmontada
HONDA/ACURA | 585.300

| 60 Kg I 02.05.90 |413—D—14D
-3 -3 o o o -3 o 0[>©;>_O80 °°°°°°?@5_200
0@0 :—Oo_—o a0 o °+ °+ -3 o o o ° © ° @ ° ° ° ° ° ° e 2 2 g 2 ¢ ° ° ° ° ° ° 8 g
B o 0o . Po;@;o"%q . 1. . .| TV400
080 080 142 080 e o o
080 oso |14l 080 vt ©t
I I + _ I ° 3 o ©
Ovb o Oo o - £ -] Q_r o -] (-] 3 [————l O o -] o
OOQ ° 3 o dPOo ;2: OOQ TV400
°:°°°°qogoogoogoossaaoooooooss|
-3 oo0j oo o o -] -3 ° © o 0 9 & oo o
© oofoo o o[>©o_ 080 oooo.o@q_zoo
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 39
5-6+7 8-9
MZ080 MZ141 / 142
FIG.8 FIG.9
E 23-24
MZ200 ’4 MZ200 + TV400
L
(M8S) H
[\
FIG.6
GELETTE ® @© Copyright 1990 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.
VIENNE-FRANCE






